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=0t A4ATJEE Saltl 5,500 x12& 66
202 044l 13,800 19,500 A5,700
01 SLHOYI 13,800 19,500 A5,700
NESeY A2EF 201t
50,000& x6H »46 2 13,800
203 YR =&l 10,000 10,000 0
03 Al =T YR =& 10,000 10,000 0
NHYSXI AR FAH| 10,000,000& 10,000
308 MHXIEHMSOIH 15,650 10,975 4,675
1132 SoHUHSEH4HAE ALS I 156,650 10,975 4,675
DXMO =ASEANAE 298 15,650,000€ 15,650
IIEHHSEANRXNA(BX) 31,760 35,005 A 3,245
= 31,760
201 €24 26,175 28,420 A2,245
= 26,175
01 At 2t 2l 26,175 28,420 N2,245
NISBHSSASKY 22|
26,175,000 26,175
= 26,175
202 Oddl 5,585 6,585 A 1,000
= 5,685
01 = LH 4 bl 5,585 6,585 1,000
NHS2HAHESSAMRXA Yl 5,585,000 5,585
= 5,585
HAELRI=UHHIZ22Y(EX) 10,000 10,000 0
= 10,000
201 Let2dE] 9,000 9,000 0
= 9,000
01 At 22l 8,000 9,000 A 1,000
NOHALR JIZUEI 2 2L A2l
8,000,000 8,000
= 8,000
02 2324l 1,000 0 1,000
NUEAT HARSHHE MEI A 2,500& *4008 1,000
= 1,000
202 o4 Hl 1,000 1,000 0
= 1,000
01 = LH 4 Hi 1,000 1,000 0
NOHAGR JI=UEII2 2 IO
1,000,000& 1,000
= 1,000
2= 4RI 17,894 16,250 1,644
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NDXEIEH e =2 29,700 x300& 8,910
202 oddl 8,400 12,000 A 3,600
01 = LH 4 1l 8,400 12,000 A 3,600
DX L2FX 2UH0H 50,0003 x4H 423 8,400
308 XXX SO0 6,754 11,757 25,003
1132 SoHUHSI S HAE ALS HI 6,754 11,757 25,003
NXHINEH ST A 11,0002 x614& 6,754
K& TH = At 1,235,073 825,734 409,339
= 861,013
< 11,385
s 362,675
X & THZE AFA 336,110 30, 145 305,965
201 L2l 29,810 21,145 8,665
01 At 22l 23,810 21,145 2,665
NXETHZAMY LRFE AREE 2
100,000& =122 1,200
NDXETHEZAAMY LRFA 0fAH|
8,000& x2H x553| 880
NXELAAs 2L+ 70,0003 x4H 13 280
NAANZEAAs 29+< 100,000 *7Y *23] 1,400
DXNEMZ=AIREE 22+
100,000 x6H »23| 1,200
NDXETHZAALY 2HEI =22
15,000, 000& 15,000
120224 & KIHTEAMAIY D=8 I8 =52
27,5003 1408 3,850
02 3323l 6,000 0 6,000
DAETHZAAIY 2ERZ 6,000,000& 6,000
202 oddl 6,300 9,000 A2,700
01 = LH o4 1l 6,300 9,000 22,700
DX EZALALY 2R2FE 20 Y]
50,000& x2H 633 6,300
301 LEAS 300,000 0 300,000
12 JIEtE4 3 300,000 0 300,000
NA AES, X S&, S FaH ot
Xz =83 X= 300,000,000 300,000
NETHEZAAS (EX) 861,013 772,819 88,194
= 861,013
201 LB-2dH| 27,000 772,819 A 745,819
= 27,000
01 At 22l 17,000 772,819 A 755,819
DX ZALALYE S 2014l b 1,000, 000& 1,000
= 1,000
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DXEHWEZAAIE AIREE 2 U
1,000, 000& 1,000
= 1,000
DAETHZALALE E24] 5,000,000& 5,000
= 5,000
DXEHEZAALY 2B =22
10,000, 000& 10,000
= 10,000
02 =224l 10,000 0 10,000
DAETHEZANAY 2BER2 10,000, 000& 10,000
= 10,000
202 O4dl 3,000 0 3,000
= 3,000
01 =S LHAYI 3,000 0 3,000
DX ETHZAIALY =LA I 3,000,000& 3,000
= 3,000
308 XXl S0l A 831,013 0 831,013
= 831,013
N 3JN2SUHUS3 &S A 831,013 0 831,013
NXETHEZAAY =& ~+2  831,013,000& 831,013
= 831,013
NEINEBMAEEZSHEIHEANSG(BX) 37,950 22,770 15,180
< 11,385
s 26,565
201 Let24d] 37,950 22,770 15,180
= 11,385
s 26,565
01 At 22l 37,950 22,770 15,180
NI =8 sd+22 75,900& *500& 37,950
< 11,385
= 26,565
EX 22 414,522 1,704,893 A 1,290,371
= 98,123
= 8,000
s 308,399
EXl2el 38,996 30,710 8,286
201 £B-2dH| 29,646 14,710 14,936
01 At 22l 29,646 14,710 14,936
NEX 2L AAREE 2L 170,000& »12& 2,040
NEXISHEAHLI] 4A2F 200,000 *42 7| 800
NHLRg2 HEHl g ddx2x2
1,000,000& =102l 10,000
NHLRSZ BSAZNI AE 228
1,000,000& *153] 15,000
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CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
NESAIEZANTAE =849
70,000 *9H *13] 630
NEX22 2= A Hl 8,000 »3H x493] 1,176
202 044 7,350 14,000 6,650
01 2L Y| 7,350 14,000 A 6,650
NEXN2Z Y28 20|
50,000& 3 x493| 7,350
301 dEtE M= 2,000 2,000 0
12 JIEtE A2 2,000 2,000 0
NESA Hellgietale 2 SHIS PP AlD
ZAZ 500,000 x4H 13| 2,000
HIIAKIFZAHEX) 196,246 196,246 0
= 98,123
= 98,123
201 LBt | 190,746 190,746 0
= 95,373
= 95,373
01 AP 22| d| 190,746 190,746 0
NIHEZ2A K EL42 128,000, 000& 128,000
= 64,000
= 64,000
NIHEZ2 AR ZAF LY E 60,746,000 60,746
= 30,373
= 30,373
NIHE Z2AI X HL2F=X 0fAlY| 2,000,000& 2,000
= 1,000
= 1,000
202 044l 5,500 5,500 0
= 2,750
= 2,750
01 2L Y| 5,500 5,500 0
NIHE Z2 AR ZAF 2 WO HI 5,500,000& 5,500
= 2,750
= 2,750
CEEFAAMNY 117,474 117,474 0
201 Bt 109,474 107,474 2,000
01 AP 22| H| 2,350 2,420 AT0
NERHZTA OHHRE 2 EB2E MH
2,000,000& 2,000
NFEAHEARS 29 =2 70,000 x5H x13] 350
02 232%H4| 107,124 105,054 2,070
NEZHTA BUNEH HSAAH SIES
19,307,000 19,307
NEZHZTA CHHAIEES S22
15,000,000 15,000
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el EXl22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NESMBSEIRAMLAEH X2
44,437,000 =14 44,437
NIINBAXFEEEHAH KB
27,780,000 » 14! 27,780
1)ADOLE KAIS 012232 50,000& x12& 600
401 AIEHI L 2 CHYI 8,000 10,000 A 2,000
01 A& HI 8,000 10,000 A 2,000
NE2HF=A ANEE HE 5,000,000 5,000
NE2YFA CHHAIEE RAUES
3,000,000& 3,000
CEREEFAME(BX) 35,846 34,003 1,843
< 5,000
[ia 30,846
308 XXIEHHSOIA 24,846 23,003 1,843
11 3J2SoHUHSI S HAE ALS I 24,846 23,003 1,843
N2IN=LFEBAAYE X2 (SHEY)
18,366, 000& 18,366
NEZEFA 2t FAA(ZIHEY)
6,480,000& 6,480
401 AIEHI L 201 11,000 11,000 0
< 5,000
[ia 6,000
01 A& Bl 11,000 11,000 0
120228 & 22| Ac=Z ANEs &1
1,000,000 1,000
< 1,000
NAagord XN EHS T X 10,000,0008 10,000
< 4,000
s 6,000
ESMHEE X 19,960 14,960 5,000
201 ¢er24] 7,960 9,960 A 2,000
01 At 22l 7,960 5,960 2,000
NRSNSEIY 22 L MRS 7YY
5,000,000& 5,000
NESMHEYEIINY 2T Al
8,000& x3Y *403| 960
NESUEEIXNY T2 RUE+
2,000,000& 2,000
202 O4dl 12,000 0 12,000
01 = LH 4 Hi 12,000 0 12,000
NSRE 2FA 2L
50,0003 »4H «303] 6,000
NESUHSEEIY ALET 2O
50,0003 3 403 6,000
ESNMEEII(EX) 6,000 13,500 A7,500
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el EXl22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,000
s 3,000
201 24l 6,000 6,000 0
< 3,000
s 3,000
01 At 2t 2l 6,000 6,000 0
NESMSHEIXY 82 L MREE 7Y
6,000,000 6,000
< 3,000
e 3,000
Fa 2,815,174 2,674,390 140,784
= 1,954,796
< 282,188
s 578,190
A= 31,602 54,170 N 22,568
201 L2l 21,802 22,570 AT768
01 At 22l 21,802 22,570 AT768
NASYERFX MRES 72 130,0002 128 1,560
NEZEIA L AN U2
170,000& *903| 15,300
NAFA|S o 70,0003 »15& *32] 3,150
NAs g2F3 Al 8,000& x4 H x56 3 1,792
202 oddl 9,800 14,000 A 4,200
01 =i o4 1l 9,800 14,000 A 4,200
A= PRFL =H0Hl 50,0003 »4H #4935 9,800
sz nsae 6,480 75,600 269,120
201 et 6,480 1,480 5,000
01 At 22l 1,000 1,000 0
NsZng g2 M 1,000,000& 1,000
02 =224l 5,480 480 5,000
Nsedns ®iz 40,0003 x12& 480
1NSAZBNE AEEHI R 5,000,000& 5,000
FHSHNA(EX) 1,958,072 2,052,500 AN94,428
= 1,545,286
< 199,336
[ia 213,450
301 LA F 670,572 652,500 18,072
= 515,286
< 70,586
s 84,700
01 Ml28HE 6= 670,572 652,500 18,072
NF=ANS0 X200 XNAALL 600,000,000 600,000
= 480,000
< 60,000
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212 = AT
DEARSHBE Y
2=

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 60,000
NEESN Al EEXNAY 70,572,000 70,572
= 35,286
o= 10,586
= 24,700
403 XX SRS K201 & 1,287,500 1,400,000 A 112,500
= 1,030,000
& 128,750
o 128,750
02 2| 2S0 et =222 EAIS Y 1,287,500 1,400,000 A 112,500
NEAS0H =SR2 ALY
1,287,500,000& 1,287,500
= 1,030,000
= 128,750
= 128,750
SHO0EHEKNIAAS(EX) 800,020 443,120 356,900
= 400,010
& 80,002
= 320,008
403 XX SHHS K 20| & 800,020 422,520 377,500
= 400,010
= 80,002
= 320,008
02 2| 2SO UeA=2=AEAS Y 800,020 422,520 377,500
NESdOIEX™El X & A 778,040,000 778,040
= 389,020
& 77,804
= 311,216
DNFEUHSKNEHAS 21,980,000 21,980
= 10,990
= 2,198
= 8,792
SHEZHQITEIMEAIL (EX) 19,000 19,000 0
= 9,500
& 2,850
= 6,650
402 SI2F 20| ™ 19,000 19,000 0
= 9,500
& 2,850
= 6,650
02 QX2 A E X (0| HTHS) 19,000 19,000 0
NsHE Z0HQ F=EHI| X ALY 19,000,000 19,000
= 9,500
= 2,850
= 6,650
HAHSHAY (RS ALY 32,620 34,020 A 1,400
Jl2d | 32,620 34,020 A 1,400
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Ha: YH2AAH(LFEAMD)
2

o
e Jl=3l

SA - ZE-B(EA) - NRAY - B S il &t o il
Jl23Hl 32,620 34,020
201 £B-2d| 7,600 8,200
01 At 22l 7,600 8,200
NEASY AIR228l 200,000 »38H 7,600
202 o4dl 13,200 10,000
01 = LH o4 1l 13,200 10,000
NEN2E IO 50, 000& x23% x83| 9,200
2L 42X 2ol
50,000& x10% »83| 4,000
203 YR =2 11,820 11,820
01 JI22H =4 6,600 6,600
NINAS2YLRFA 550,000& »12& 6,600
04 EAN2IHRF=EHI 5,220 5,220
1)302! 0| &t 400,000& 124 4,800
1)3121 0] & 5,000&+x7H 123 420




